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Rewrite each infinitely repeating decimal as a rational number (fraction).

1) 2.8948

f = 2.8948

-

10,000f = 28948.48

100f = 00289.48

9900f = 28659

f = 
28659⁄9900

2) 4.42

f = 4.42

-

100f = 442.2

10f = 044.2

90f = 398

f = 
398⁄90

3) 0.640

f = 0.640

-

1,000f = 640.40

10f = 006.40

990f = 634

f = 
634⁄990

4) 0.2897

f = 0.2897

-

10,000f = 2897.97

100f = 0028.97

9900f = 2869

f = 
2869⁄9900

5) 2.256

f = 2.256

-

1,000f = 2256.56

10f = 0022.56

990f = 2234

f = 
2234⁄990

6) 0.578

f = 0.578

-

1,000f = 578.8

100f = 057.8

900f = 521

f = 
521⁄900

7) 7.285

f = 7.285

-

1,000f = 7285.5

100f = 0728.5

900f = 6557

f = 
6557⁄900

8) 63.174

f = 63.174

-

1,000f = 63174.74

10f = 00631.74

990f = 62543

f = 
62543⁄990

9) 53.76

f = 53.76

-

100f = 5376.6

10f = 0537.6

90f = 4839

f = 
4839⁄90

10) 0.8252

f = 0.8252

-

10,000f = 8252.2

1,000f = 0825.2

9000f = 7427

f = 
7427⁄9000

Answers

1.
28659⁄9900

2.

398⁄90

3.

634⁄990

4.

2869⁄9900

5.

2234⁄990

6.

521⁄900

7.

6557⁄900

8.

62543⁄990

9.

4839⁄90

10.

7427⁄9000
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